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(1) Evaluate each integral using a suitable integration technique.
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(2) Find the volume of the solid generated by rotating the triangular region bounded by
y = 16 —z, y = 3z + 12, z = 0 about

(c) the r-axis using slicing method.
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(b) the y-axis using cylindrical shell method.




(3) Evaluate each improper integral or show that it diverges
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(4) (@) Two nonnegative numbers have sum 60. What are the mumbers if the product of

one of them and the square of the other is maximal?
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(b) f‘ind the length of the curve y = %
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